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N Addition Word Problems

~ Fourteen pears were in the basket. More pears were
added to the basket. Now there are twenty-one pear.
How many pears were added to the basket?

N

Jake has nine more marbles than Brian. Brian has two
marbles. How many marbles does Jake have?

Eleven marbles were in the basket. More marbles were
added to the basket. Now there are thirteen marbles.
How many marbles were added to the basket?

s

~_Janet has thirteen more balls than Sandra. Sandra
has two balls. How many balls does Janet have?

o

Sharon has two pears and Audrey has eight pears.
How many pears do Sharon and Audrey have together?
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